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ESRS R SHZ
=XH (T) J1=3t S#1 S#2 S
X y Z X y z
5L 0.3206 | 0.3406 | 0.3388 | 0.3184 | 0.3364 | 0.3452
1ou 5R 0.3181 | 0.3359 | 0.3460 | 0.3159 | 0.3313 | 0.3528
20L 0.3195 | 0.3384 | 0.3421 | 0.3204 | 0.3404 | 0.3392
10L 0.3200 | 0.3393 | 0.3407 | 0.3201 | 0.3396 | 0.3403
5U V 0.3179 | 0.3353 | 0.3468 | 0.3176 | 0.3348 | 0.3476
10R 0.3169 | 0.3335 | 0.3496 | 0.3098 | 0.3195 | 0.3707
20R 0.3140 | 0.3275 | 0.3585 | 0.3048 | 0.3097 | 0.3855
10L 0.3203 | 0.3401 | 0.3396 | 0.3201 | 0.3397 | 0.3402
5L |y =0.335 0.3197 | 0.3387 | 0.3416 | 0.3188 | 0.3371 | 0.3441 | _
z < 0.008 Sl =l
H V 0.3179 | 0.3352 | 0.3469 | 0.3170 | 0.3337 | 0.3493 | _ | _
5R |y = 0.980 - x | 0.3167 | 0.333 | 0.3503 | 0.3139 | 0.3275 | 0.3586 ST
10R 0.3164 | 0.3325 | 0.3511 | 0.3097 | 0.3193 | 0.3710
20L 0.3188 | 0.3371 | 0.3441 | 0.32 | 0.3397 | 0.3403
10L 0.3192 | 0.3378 | 0.3430 | 0.3196 | 0.3389 | 0.3415
5D V 0.3184 | 0.3363 | 0.3453 | 0.3173 | 0.3344 | 0.3483
10R 0.3162 | 0.3321 | 0.3517 | 0.3116 | 0.3234 | 0.3650
20R 0.3128 | 0.3254 | 0.3618 | 0.3056 | 0.3113 | 0.3831
10D 5L 0.3208 | 0.3411 | 0.3381 | 0.3192 | 0.3380 | 0.3428
5R 0.3179 | 0.3355 | 0.3466 | 0.3166 | 0.3331 | 0.3503
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3) BEAIDIAIE
= m® (5 = 2 = & dt(med/lux) SFZ

S#1 S#2 S#1 S#2

10U vV 800 1150.2 1118.8 o= | BF =

5U 20L 400 666.3 567.9 or = | Bt =

5U 20R 400 726.0 945.2 o x| B =

0.33 H Vv 1200 1441.3 1285.9 o= | B =
5D 20L 400 622.6 543.8 o= | B =

5D 20R 400 603.7 836.2 ot = | 2 =

10D V 800 1059.1 941 .1 o= | B =

10U Vv 11.2 120.2 120.0 ot = | B =

5U 20L 10 54.0 42.3 ot = | B =

5U 20R 10 52.0 80.1 o= | B =

1.5 H vV 20 191.3 192.1 o= | BF =
5D 20L 10 4.7 41.8 ot = | BF =

5D 20R 10 51.9 76.3 ot = | BF =

10D V 11.2 120.4 106.1 o x| B =
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